EXERCISE 5.2: Compute the output y[n] for the length-4 filter whose coefficients are {b;} = {3,
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the input signal given in Fig. 5-2. Verify that the answers tabulated here are correct, then fill in the missing values.

n n<0 1 2 4 n>3y8
x[n] 0 4 |6 0
y[n] 0 10 | 18 0
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(SOLUTION)




yin}= 2xin} —x[n-1}) +2xIn-2) + x[r-3]
7 ! 7 r
bo b, bz bg

Yiz)= 3 xi2] - xli) +2xfo] +x[-1).
= 23(6)-4 +2(2)+o = 13 v~
y[ﬂ: 2xj3) - x(2) £2x0) + x[o)
sy - b r2@) vz =[]
yia)= 3(2)—4 F206) +4 = [18)
y[5]= 2 (o) —2 +2(4) +6 = (i)
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